BOARD OF SECONDARY EDUCATION KARAGHI

“E= NEW MODEL QUESTION PAPER
S.S.C. (ANNUAL) EXAMINATION-2023
MATHEMATICS (CLASS IX)
GENERAL GROUP

REGULAR & PRIVATE CANDIDATES
TIME: 3 HOURS TOTAL MARKS: 75

SECTION “A” (20%)

MULTIPLE CHOICE QUESTIONS (MCQs) (15 MARKS)

Q.1 Fifteen (15) MCQs will be given from whole syllabus. Each question carries 1 mark.

SECTION ‘B’ (40%) (30 MARKS)
SHORT ANSWER QUESTIONS

Note: Attempt any six (6) questions from this section. All questions carry equal marks:

Q.2 Convert 324 into base five system.

Q3. Iflogyp2 =0.3010,logp3 = 0.4771 and log;o5 = 0.6990 then find the value of log,, 30.

Q4 8 students obtained 45,36,12,45,10,16,48 and 32 marks respectively in English, find their
median.

Q.5 15 spoons of sugar are required for 6 eggs cake. How many spoons of sugar will required for 8
eggs cake?

Q.6 iflog, 64 = x, then find the value of x.

Q.7 If P={1,2} and Q={4,6,8} then find P X Q

Q.8 A person saved 25000 rupees in a year. His wife had ornaments of 20000 rupees. How much
Zakat is due to him?

Q9 Divide 450 rupees among x, y and z in the ratio of 2:3:4

Q.10  Simplify 3/8x*y =526

Q.11  The population of a village was 7740 in 1961. In 1971 the population becomes 8901. Find percent
increase in population.

SECTION ‘C’ (40%) (30 MARKS)
DESCRIPTIVE-ANSWER QUESTIONS

Note: Attempt any three (3) questions from this section. All questions carry equal marks.

Q.12  Simplify: 1110, x 101, + 101, X 10, — 110, x 1010,

8.57%x24.7

Q.13  Solve with the help of logarithm. p

Q.14 The ages of 22 teachers of a school are given below. Find their Arithmetic mean (A.M.)-

Ages in years 26-30 31-35 36-40 41-45 46-50
Numbers of 8 4 3 5 2
teachers

Q.15 A person died leaving behind him a “Tarka” worth Rs. 30000. Distribute the “Tarka” among 4 sons and 3
daughters so that each daughter gets half of what a son gets. Find the share of each when a debt of Rs.
8000 is also paid out of the “Tarka”.

Q.16  Aslam bought cloth at 15 percent discount. He also got 5 percent reduction by paying in each. What did
he pay for the cloth, the written price of which is 80 rupees?
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